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1.1 Which one of the following compounds has the most acid nature?

OH
OH é‘ H
(Y (Y 0
CH,OH OH
oCY oCY

Ans.d

1.2 Among the following sets of reactants which one produces anisole?

(a) CH3CHO, RMgX (b) C¢HsOH, NaOH, CHsl (c) C¢HsOH, neutral FeCls

(d) CgHs —CHs3, CH3COCI; AlCl3

Ans. b

1.3 The electrophile involved in Riemer-Tiemann reaction of phenol with CHCI; in presence of
NaOH-

& &
(@) CCL, ®) Cel, (¢ CHO (@ CHCl,
Ans. a
1.4 Identify ‘C’ in the following:

Anhy. AIC] O dil. H,50
+ 3 LAY & 1] & L]
Cl

(a) Water (b) Ethanol (c) Propanone (d) Cumenehydroperoxide
Ans. ¢



1.5
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OH 0 CH,0H
(@ (b) (© (d)

Ans. b

1.6 Monochlorination of toluene in sunlight followed by hydrolysis with aq. NaOH yields.
(a) o-Cresol (b) m-Cresol (c) 2, 4-Dihydroxytoluene (d) Benzyl alcohol

Ans. a

1.7 How many alcohols with molecular formula C4H100 are chiral in nature?
(@)1(b)2(c)3(d)4

Ans. a

1.8 The correct acidic strength order of the following:

OH OH
0 @ @
@ CH; NO2
I

II III
is— _
@ 1>1>1(b) N>1>1(c)1>1>1(d)I>1>1
Ans. b

1.9 Phenols are more acidic than alcohols because-

(a) Phenoxide ion is stablised by resonance (b) Phenols are more soluble in polar solvents (c)
Phenoxide ion does not exhibit resonanced) Alcohols do not lose H atoms at all

Ans. a

1.10 Which of the following species can act as the strongest base?

(@) “OH (b)) SOR
(c) S0C He (e

NO,
Ans. b

1.11The major organic product in the reaction, CH; — O — CH(CH3s), + HI = product is/are-
(@) CH,l + (CH;),CHOH

(b) CH;OH+(CH3), CHI

(c) ICH, OCH (CH;)»

(@ CH,— O —C — (CH)),

I



Ans. a

1.12The process of converting alkene into alcohols involves-

a) Addition reaction b) Substitution reaction c) Dehydrohalogenation reaction
d) Rearrangement reaction

Ans. a
1.13 Which of the following reactions will yield phenol with most difficulty?
Cl NH,
@ fusion with NaOH at 300 atm ®) (i) NaNO,/HCI
a > -
(i) H,O/H" (i) H,O (Warming)
Cl
(1) Oleum . (i) NaOH{ag.), 298K./1atm .
© (ii) NaOH, (Heating) @) T ’
. g) (i) HC1
{iii) H*
Ans.d

1.14 Among the alkenes which one produces tertiary butyl alcohol on acid hydration?
a) (CHs),C = CH; b)CH3; — CH = CH — CH3 ¢) CH3 — CH, — CH = CH, d)CH3 — CH = CH;
Ans. a

1.15 An ether is more volatile than an alcohol having the same molecular formula. This is due
to-

a)Dipolar character of ethersb)alcohols having resonance structures
c) Inter-molecular hydrogen bonding in ethers d)inter-molecular hydrogen bonding in alcohols

Ans.d
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